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SOCIAL SCIENCE
Summative Assessment–I & II

DESIGN
Time : 3 Hrs. Max. Marks : 90

I.  Weightage to form of questions :

From of questions : Marks for No. of Questions with Total Marks
each Questions their serial numbers

MCQ 1 10 Sr. No. (1-10) 10
Short Answer (SA) 3 11 Sr. No. (11-21) 33
Long Answer (LA) 5 8 Sr. No. (22-29) 40
Map Question 3+4 2 (Sr. No. (30-31) 07
Total 31  Sr. No. (1-31) 90

II. Unitwise Division of Questions

    Unit No. & Subject Marks MCQ SA LA Map Total
1 mark 3 marks 5 marks Qs.

Qs. Qs. Qs.

I. Resources and Development 30 4(4) 12(4) 10(2) 4(1) 30(11)

(Geography) 1–4 11–14 22-23 31

II. Our Past III : People & 30 3(3) 9(3) 15(3) 3(1) 30(10)

Society in Modern Period 5-7 15-17 24-26 30

(History)

III. Rule of Law and Social 30 3(3) 12(4) 15(3) — 30(10)

 Justice (Pol. Science) 8-10 18-21 27-29

 Total 90 10(10) 33(11) 40(8) 7(2) 90(31)

III. Scheme of Options : Internal choice only in one long answer question (LAS) from each unit.

IV. Weightage to difficulty level :

1. Difficult/Hot questions : 20%

2. Average questions : 50%

3. Easy questions : 30%
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V. Expected Length of answers to different types of questions & time management :

S. No. Type of Questions Expected length of answers Expected time

1. MCQs Selection of correct answer 2 minutes × 10 Qs
(a), (b), (c) & (d) = 20 mts.

2. Short Answer (SA) Qs Not exceeding 60 words 5 minutes × 11 Qs
= 55 mts.

3. Long Answer (LA) Qs Not exceeding 120 words 10 minutes × 8 Qs
= 80 mts.

4. Map Question (Two)            ——— 11 minutes

5. Reading the question 14 minutes
paper & revison of
Answers

Total 180 minutes
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BLUE PRINT
 (Summative Assessment-I)
SUBJECT-SOCIAL SCIENCE

S.No. Unit Sub-unit /Topic MCQ SA LA Map Total
Q.

I. Geography

1. Chapter 1 Resources utilization & 3(1) 5(1) ––– 8(2)
Development 11 22

2. Chapter 2 Natural Resources : Land 2(2) 3(1) 5(1) 2 10+2(4)
Soil and Water 1   2 12 23

3. Chapter 3 Natural Resources : 2 (2) 6(2) ––– 2(1) 8+2(5)
Vegetation & Wildlife 3   4 13   14 31

Sub Total 4(4) 12(4) 10(2) 4(1) 30(11)

II. History

5. Chapter 8 The Modern Period 3(3) –– –– –– 3(3)
5   6   7

6. Chapter 9 Establishment of –– 3(1) 5(1) –– 8(2)
Company Rule in India 15 24

7. Chapter 10 Colonialism : Rural and –– 3(1) 5(1) 1 8+1 (2)
Tribal Societies 16 25

8. Chapter 11 The First War of –– 3(1) 5(1) 2(1) 8+2(3)
Independence 1857 17 26 30

Total 3(3) 9(3) 15(3) 3(1) 30(10)

III. Pol Science

9. Chapter 15 Role of Constitution 1(1) 6(2) 5(1) –– 12(4)
8 18   19 27

10. Chapter 16 Indian Secularism –– –– 5(1) –– 5(1)
28

11. Chapter 17 The Union Government 1(1) 3(1) –– –– 4(2)
9 20

12. Chapter 18 The Union Legislature 1(1) 3(1) 5(1) –– 9(3)
10 21 29

Sub Total 3(3) 12(4) 15(3) –– 30(10)

Total 10(10) 33(11) 40(8) 7(2) 90(31)
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SOCIAL SCIENCE
SUMMATIVE ASSESSMENT-I

Time allowed : 3 hours Maximum Marks : 90

General Instructions :
1. There are 31 questions in all.

2. Marks for each question are indicated against it.

3. All questions are compulsory.

4. Write the same question number as given in the question paper while
answering a question in your answer book.

5. (i) Answers to MCQ of 1 mark should be out of (a), (b), (c) or (d) only.

(ii) Answer to each question of 3 marks should not exceed 60 words each.

(iii) Answer to each quesion of 5 marks should not exceed 120 words each.

6. Both the Maps should be attached inside the answer book.

lkekU; funsZ'k %
1- bl iz'u i=k esa oqQy 31 iz'u gSaA
2- izR;sd iz'u osQ vad lkeus fn, x, gSaA

3- lHkh iz'u vfuok;Z gSaA

4- viuh mÙkjiqfLrdk esa mÙkj fy[krs le; iz'u i=k esa fn;k x;k iz'ukad gh fy[ksaA
5- (i) 1 vad osQ cgq&oSdfYid iz'uksa osQ mÙkj (a), (b), (c) vFkok (d) esa ls gh gksuk

pkfg,A

(ii) 3 vadksa osQ izR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A
(iii) 5 vadksa osQ izR;sd iz'u dk mÙkj 120 'kCnksa ls vf/d ugha gksuk pkfg,A

6- nksuksa ekufp=k viuh mÙkj iqfLrdk osQ Hkhrj layXu dhft,A

1. Which one of the following is an area of high rainfall ? (1)

(a) Sahara Desert (b) Western Australia

(c) Central Urasia

(d) Equatorial region of South America

fuEufyf[kr esa ls dkSu lk vf/d o"kkZ dk {ks=k gS\

(a) lgkjk e#LFky (b) if'peh vkWLVsªfy;k

(c) eè; ;wjsf'k;k (d) nf{k.k vesfjdk dk fo"kqorh; {ks=k
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2. Which one of the following countries has the highest percentage of forest
area ? (1)

(a) Australia (c) Japan

(b) India (d) UK

fuEufyf[kr esa ls fdl ns'k esa ouh; {ks=k dk izfr'kr lokZf/d gS\

(a) vkWLVsªfy;k (c) tkiku

(b) Hkkjr (d) baXySaM

3. Why do the trees in Tropical Evergreen Forests have broad leaves ? (1)

(a) To retain their green colour (b) To permit transpiration

(c) To prevent deposition of snow (d) To store surplus moisture

m".kdfVca/h; lnkgfjr ouksa dh ifRr;k¡ pkSM+h D;ksa gksrh gSa\

(a) gjk jax cuk, j[kus osQ fy, (b) mRltZu osQ fy,

(c) ciZQ dh ijr cuus ls jksdus osQ fy, (d) vfrfjDr ueh osQ laxzg gsrq

4. What was the main aim of the project launched in 1973 in Corbett
National Park ? (1)

(a) To maintain biodiversity (b) To save tigers

(c) To save one-horned rhinoceros (d) To save birds

dkjcsV us'kuy ikoZQ esa 1973 esa izkjaHk fd, x, izkstsDV dk eq[; mís'; D;k Fkk\

(a) tSfod fofHkUurk cuk, j[kuk (b) ck?kksa dks cpkuk

(c) ,d fla?kk xsaMs dh lqj{kk (d) if{k;kas dh lqj{kk

5. Who was the last great Mughal Emperor ? (1)
(a) Babur (b) Shah Jahan
(c) Bahadur Shah Jafar (d) Aurangzeb

vafre egku eqxy 'kkld dkSu Fkk\

(a) ckcj (b) 'kkgtgk¡

(c) cgknqj'kkg tI+kQj (d) vkSjaxtsc



[269]

6. Strategies of Non-violence and Civil Disobedience were introduced by : (1)

(a) Bal Gangadhar Tilak (c) Jawahar Lal Nehru

(b) Mohan Das Karamchand Gandhi (d) Lala Lajpat Rai

vfgalk vkSj lfou; voKk uhfr;ka fdlus 'kq: dha \

(a) cky xaxk/j fryd (b) eksgunkl djepan xk¡/h

(c) tokgj yky usg: (d) ykyk yktir jk;

7. Modern period of Indian history covers : (1)

(a) Vedic Age (b) Turkish Invasions

(c) Indian Independence (d) Delhi Sultanate

Hkkjrh; bfrgkl osQ vk/qfud ;qx esa 'kkfey gSµ

(a) oSfnd ;qx (b) rqdhZ vkozQe.k

(c) Hkkjr dh Lora=krk (d) fnYyh lYrur

8. The Fundamental Right which protects the interest of the minorities : (1)

(a) Right to Education (b) Right to Information

(c) Cultural & Educational Rights (d) Right to Constitutional-
Remedies

dkSu&lk ekSfyd vf/dkj vYila[;dksa osQ fgr dh j{kk djrk gS\

(a) f'k{kk dk vf/dkj (b) lwpuk dk vf/dkj

(c) lkaLo`Qfrd vkSj 'kSf{kd vf/dkj (d) laoS/kfud mipkj dk vf/dkj

9. Which of the following subject is included in the Residuary subject ? (1)

(a) Agriculture (b) Marriage

(c) Railways (d) Information Technology

fuEufyf[kr fo"k;ksa esa ls dkSu lk fo"k; vof'k"V fo"k; dk Hkkx gS\

(a) o`Qf"k (b) 'kknh

(c) jsyos (d) lwpuk izkSn~;ksfxdh
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10. The process to remove the President of India by impeachment is carried
out by : (1)
(a) The Supreme Court of India (b) The Rajya Sabha
(c) Both the Houses of Parliament (d) State legislature Assemblies

fuEufyf[kr esa ls dkSu lh laLFkk egkfHk;ksx dh izfozQ;k }kjk Hkkjr osQ jk"Vªifr dks gVk

ldrh gS\

(a) Hkkjr dk loksZPp U;k;ky; (b) jkT; lHkk

(c) laln osQ nksuksa lnu (d) jkT; fo/ku lHkk,¡

11. With the help of examples, explain any three factors on which the
utilization of resources depends. (3×1=3)

mnkgj.kksa lfgr fdUgha rhu ,sls dkjdksa dh O;k[;k dhft, ftl ij lalk/uksa dh mi;ksfxrk

fuHkZj djrh gSA

12. Why have large dams come under great criticism from the
environmentalist ? Explain any three reasons. (3×1=3)

i;kZoj.kfonksa osQ vuqlkj fo'kky cka/ vkykspuk osQ nk;js esa D;ksa vk x, gSa\ dksbZ rhu

dkj.k Li"V dhft,A

13. How do forests play an important role in maintaining biological diversity
for the sustainence of human life ? (3×1=3)

ekuo thou osQ lrr iks"k.k osQ fy, tSfod fofo/rk cuk;s j[kus esa ou fdl izdkj

egÙoiw.kZ Hkwfedk vnk djrs gSa\

14. What type of precipitation do the coniferous forests receive in winter and
why ? (1+2=3)

'khr ½rq esa 'kaoqQ/kjh oukas essa fdl izdkj o"kZ.k gksrk gS\ vkSj D;kas\

15. What benefits did the East India Company get by setting up trading posts
in Surat and three Presidency settlements at Bengal, Madras and
Bombay?
bZLV bafM;k oaQiuh dks lwjr rFkk caxky] enzkl vkSj cEcbZ osQ izslhMsalh {ks=kksa esa O;kikfjd

osaQnz LFkkfir djus ls D;k ykHk gq;s\ (3)
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16. Differentiate between Ryotwari system and Mahalwari system. Which one
was most harmful ? (3)

jS;rokM+h iz.kkyh vkSj egyokM+h iz.kkyh esa vUrj Li"V dhft,A buesa ls dkSu lh iz.kkyh
vf/d gkfudkjd Fkh\

17. Highlight 3 main reasons responsible for discontentment among the
Indian sepoys ? (3)

Hkkjrh; flikfg;ksaa esa vkozQks'k osQ fy;s mÙkjnk;h rhu eq[; dkj.kksa dks mtkxj dhft,A

18. “The constitution of India is a living document.” Explain the statement
with three examples. (3)

^^Hkkjr dk lafo/ku ,d thoar nLrkost gSA** rhu mnkgj.kksa }kjk bl dFku dh O;k[;k
dhft,A

19. Explain three differences between fundamental rights & Directive
Principles of State Policies. (3×1=3)
ekSfyd vf/dkjksa vkSj uhfr&funsZ'kd rRoksa esa dksbZ rhu varj mtkxj dhft,A

20. What are ‘Residuary subjects’ ? Mention any two residuary subjects. Who
has the authority to make laws on them ? (1+1+1=3)

^vof'k"V fo"k;* D;k gSa\ fdUgha nks vof'k"V fo"k;ksa dk mYys[k djasA bu fo"k;ksa lEcUèkh
dkuwu cukus dk vf/dkj fdlosQ ikl gS\

21. Which three important qualifications are necessary for a person to become
a member of Rajya Sabha ? (3)

fdlh O;fDr dks jkT; lHkk dk lnL; cuus osQ fy, dkSu lh rhu egÙoiw.kZ ;ksX;rk,¡
vko';d gSa\

22. Why is it necessary to maintain a proper balance between population and
utilization of Resources ? Suggest two ways in which you can contribute
in this direction. (3+2=5)

tula[;k vkSj lalk/uksa osQ mi;ksx osQ chp ,d mfpr larqyu cuk, j[kuk D;ksa vko';d
gS\ bl fn'kk esaa ;ksxnku nsus osQ dksbZ nks rjhosQ lq>kb,A

23. What is meant by soil conservation ? Suggest any four steps to prevent
soil erosion ? (1+4=5)

OR
Why are the sources of water becoming limited every year ? Suggest any
three ways to conserve water ? (2+3=5)
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ènk laj{k.k ls D;k vfHkizk; gS\ ènk vijnu dks jksdus osQ fy, pkj mik; lq>kb,A

OR

ty osQ L=kksr gj o"kZ D;ksa lhfer gksrs tk jgs gSa\ ty laj{k.k osQ dksbZ rhu rjhosQ lq>kb,A

24. Briefly explain the circumstances  that led to the First-Anglo-Sikh war.
Mention two provisions of the Treaty of Lahore. (3+2)

iatkc esa izFke vkaaXy&flD[k ;q¼ dh ifjfLFkfr;ksa dk mYys[k dhft,A ykgkSj dh laf/ dh

fdUgha nks fo'ks"krkvkas dk mYys[k dhft;sA

25. Mention the tribal groups that inhabited Odisha and Punjab. In which
three ways did the policies of the British threaten the life of Tribals in
India ? (2+3)

mM+hlk vkSj iatkc esa jgus okyh tutkrh; lewgksa osQ uke crkb;sA fdu rhu rjhdksa ls

fczfV'k uhfr;ksa us Hkkjr esa bu tutkrh; lewgksa osQ thou esa Hk; mRiUu fd;k\

26.     In your opinion how far was the British interference in social and religious
matters of the Indians responsible for the outbreak of the Revolt
of 1857 ? (5)

OR
What steps would have ensured the success of the revolt of 1857 in your
opinion ?

vkiosQ fopkj esa 1857 dh ozQkfUr dh 'kq:vkr osQ fy, Hkkjr osQ lkekftd vkSj /kfeZd

ekeyksa easa fczfV'k gLr{ksi dgk¡ rd mÙkjnk;h Fkk\

vFkok

vkiosQ fopkj esa 1857 dh ozQkafr dks liQy cukus esa dkSu ls dne mBk;s tkus pkfg;s Fks\

27. Why are amendments necessary in a constitution ? Explain any two
procedures of amendments as mentioned in the Indian constitution ?

lafo/ku esa la'kks/u dh vko';drk D;kas iM+rh gS\ Hkkjrh; lafo/ku esa mfYyf[kr fdUgha

nks la'kks/u izfozQ;kvkas dh O;k[;k dhft,A (1+4=5)

28. What is meant by secularism ? Explain any three provisions of the Indian
constitution related to secularism ? (2+3=5)

/eZfujis{krk ls D;k vfHkizk; gS\ /eZfujis{krk ls lacaf/r Hkkjrh; lafo/ku osQ fdUgha rhu

izko/kuksa dh O;k[;k dhft, ftu dh iwfrZ Hkkjrh; lafo/ku djrk gSA
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29. Explain any two methods adopted by the Union Legislature to exercise
control over the executive. Which method according to you, is more
effective and why ? (4+1=5)

OR

What does ‘reserved Constituency’ mean ? What is the purpose behind
reserved constituency ? In a reserved constituency is the electorate joint
or separate ? (2+1+1=5)

dk;Zikfydk ij fu;a=k.k j[kus osQ fy, la?k fo/kf;dk }kjk viukbZ xbZ fdUgha nks fof/;ksa

dh O;k[;k dhft,A vkiosQ vuqlkj dkSu&lh fof/ vf/d izHkkodkjh gS vkSj D;ksa\

vFkok

^vkjf{kr fuokZpu {ks=k* ls D;k vfHkizk; gS\ vkjf{kr {ks=k cukus dk D;k mn~ns'; gS\

vkjf{kr fuokZpu {ks=kksa dk fuokZpd eaMy la;qDr gksrk gS vFkok ìFkd\

30. (i) Two features A and B are shown in the political map of India. Identify
these features with the help of following information and write their
correct names on the lines marked on the map.

(A) Place from where Bahadur Shah ruled

(B) Place to which Sindias belonged

(ii) On the same political map of India locate and label the following place

(C) Tripura (2+1=3)

(i) Hkkjr osQ js[kk ekufp=k ij nks y{k.k A rFkk B n'kkZ, x;s gSaA uhps nh xbZ lwpuk osQ

vkèkkj ij mUgas igpkfu;s rFkk muosQ lgh uke nh xbZ js[kkvksaa ij fyf[k;sµ

(A) cgknqj'kkg ftl LFkku ls 'kklu djrs FksA

(B) og LFkku ftl ls flaf/;k lacaf/r FksA

(ii) fn, x, mlh ekufp=k ij fuEufyf[kr dks vafdr dhft, rFkk mldk uke Hkh fyf[k,µ

(C) f=kiqjk    (3×1=3)

For Visually impaired students in lieu of Q. 30

(1) The Santhals belong to which place ?

(2) When did the sepoy Mutiny break out into an open revolt ?

(3) Which regiment on eastern coast of India did not join the revolt ?
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iz-la- 30 osQ LFkku ij ǹf"V ckf/r fo|kfFkZ;ksa osQ fy, oSdfYid iz'u

(1) laFkky fdl LFkku ls laca/ j[krs gSa\

(2) fdl LFkku ij flikgh fonzksg ,d [kqys fonzksg osQ :i esa 'kq: gqvk\

(3) Hkkjr osQ iwohZ rV dh fdl jsftesaV us fonzksg esa Hkkx ugha fy;k\ (3×1=3)

A

B
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31. 1. Two features A and B are shown in the physical map of the world.
Identify these features with the help of the following information and
write their correct names on the lines marked on the map.

(A) A region of low rainfall in Australia.

(B) A type of forest.

2. On the same outline political map of the world locate and label the
following items with appropriate symbols :

(C) One region of high rainfall in North America.

(D) One region of Evergreen forest in South America. (4)

A

B
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1. lalkj osQ fn;s js[kk ekufp=k ij nks y{k.k A rFkk B n'kkZ, x, gSaA uhps nh xbZ lwpuk

osQ vkèkkj ij mUgas igpkfu;s rFkk muosQ lgh uke nh xbZ js[kkvksaa ij fyf[k,µ

(A) vkLVsªfy;k esa de o"kkZ okyk {ks=k

(B) oukas dk ,d izdkj

2. fn, x, mlh ekufp=k ij fuEufyf[kr y{k.kkas dks mi;qDr fpg~uksa }kjk vafdr dhft,

rFkk muosQ uke fyf[k,µ

(C) mÙkjh vesfjdk esa ,d vf/d o"kkZ okyk {ks=k

(D) nf{k.k vesfjdk esa lnkgfjr ouksa dk ,d {ks=kA (2+2)

For Visually impaired students in lieu of Q. No. 31 :

31.1 Name the African Desert lying on the Tropic of Cancer. (1)

31.2 Name a region of Tropical Evergreen Forests in South America. (1)

31.3 Name any one tree of coniferous forests. (1)

31.4 Which tree is commonly found in Australia ? (1)

iz-la- 31 osQ LFkku ij ǹf"V ckf/r fo|kfFkZ;ksa osQ fy, oSdfYid iz'u %

31.1 doZQ js[kk ij fLFkr vizQhdk osQ e#LFky  dk uke fyf[k,A

31.2 nf{k.kh vesfjdk osQ m".kdfVca/h; lnkgfjr ou {ks=k dk uke fyf[k,A

31.3 'kaoqQ/kjh ouksa osQ fdlh ,d o`{k dk uke fyf[k,A

31.4 vkWLVsªfy;k esa lkekU;rk ik, tkus okyk ò{k dkSu lk gS\
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SOCIAL SCIENCE M.M. : 90

(Summative Assessment-I)
MARKING SCHEME & HINTS TO SOLUTIONS

(Note : Any other relevant solution, not given herein but given by the
candidates, be suitably awarded)

Marks allotted Total
 Q.            VALUE POINTS/KEY POINTS to each Value Marks
 No. point/key point

 1. (d) Equatorial region of South America 1 1

 2. (c) Japan 1 1

 3. (b) To permit transpiration 1 1

 4. (b) To save tigers 1 1

 5. (d) Aurangzeb 1 1

 6. (b) Mohandas Karmchand Gandhi 1 1

 7. (c) Indian Independence 1 1

 8. (c) Cultural and Educational Rights 1 1

 9. (d) Information Technology 1 1

 10. (b) Both the Houses of Parliament 1 1

 11. Utilization of resource depends on the following

factors :

(i) Availability of resources

(ii) Skill of human beings

(iii) Availability of capital

(iv) Advancement of technology

(v) Availability of transport and communication

(vi) Availability of water
(any three points to be explained) 3×1 3
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 12. Reasons :
(i) Extensive forests submerged under water.

(ii) River water gets diverted.

(iii) Population gets displaced.

(iv) Aquatic life gets affected.

(v) Flow of underground water is also checked.
  (Any three points) 3×1 3

 13. (i)   They harbour millions of species of animals.

(ii) They maintain ecological balance.

(iii) They are the breathing lungs of civilisation.

(iv) They provide habitat for Wild Life.
(Any three points) 3×1 3

 14. • Precipitation is received in the form of snow in
winters.

(i) Due to high altitudes, temperature remains
low

(ii) Winters are long and severe. 1+2 3

 15. • (i) The British established friendly relations
with the local Princes to further their profits.

(ii) The Indian Princes became mere puppets in
the hands of the English.

(iii) They signed alliances to secure the help of
the English military to settle their internal
rivalaries. 3×1 3

 16. (i) Ryotwari system – introduced by Thomas Munro
in Madras in 1820, established a direct settlement
between the Government and the ryots (cultivators)

(ii) Mahalwari system – introduced in 1822 in
Crangetic valley, North West provinces, Central
India and Punjab, established collective settlement
with the group of villages called Mahal.

•    Mahalwari system 3
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 17. (i) No choice of promotion

(ii) Humiliated by British

(iii) Discrimination between Indian & British soldiers

(iv) Low salary

(v) Compelled to serve overseas.
(Any three) 3×1 3

 18. (i) Can be modified & altered

(ii) Always evolving & subject to change

(iii) Keeps evolving according to changing conditions,

needs & international obligation. 3×1 3

 19. • Fundamental Rights – are basic rights guaranted
to the citizens.

Directive Principles – are instructions given by
the constitution to all the goverment.

• Fundamental Rights – aim at political equality

Directive Principles – aim at establishing a welfare
state.

• Fundamental Rights – are justicible

Directive Principles – are not justicible. 3×1 3

 20. • Subjects not mentioned in any of othe three lists

or such matter which arise with the passage of

time.

• Computer software, hardware, e-commerce,

information

• Parliament                            (any two) 1+1+1 3

 21. (i) Person must be a citizen of India

(ii) Should not be less than 30 years of age

(iii) His/Her name must be in the Voters’ list. 3×1 3
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 22. • Reasons :

(i) Distribution of resources is highly uneven.

(ii) Over-utilization of resources lead to depletion.

(iii) Rapid use of resources cause degradation of
existing environment.

• Suggestion for Conservation :

(i) Use resources more efficiently and reduce
wastage.

(ii) Development of technology to use resources more
efficiently.
(or any other two relevant points) 3+2 5

 23. • Soil conservation means various methods by
which soil is prevented from being eroded.

• Suggestion to prevent soil erosion :-

(i) Afforestation : Planting more trees and seeds
on soil to reduce surface run-off & bind soil.

(ii) Shelter Belts : Rows of trees are planted in
desert to protect the field from wind erosion.

(iii) Restriction over grazing : A long with
restriction over grazing emphasis on raising
more fodder crops is to be given.

(iv) Enforcement of law : Steps are to be taken to
check reckless cutting of trees.

(v) Building dams : Floods should be avoided by
building dams across the river.      (any three) 1+4 5

OR
• Sources of water are becoming limited because of

the following reasons :-

(i) Global warming and unpredictable rain

(ii) Pollution of different sources of water

(iii) Wastage of water                 (any two points)
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• Suggestion to conserve water :-

(i) Water harvesting and saving surface run-off.

(ii) More and more afforestation increase ground
water table.

(iii) Impounding rain water by large dams.

(iv) By adopting modern methods of irrigation.
(any three points) 2+3 5

 24. (i) A lot of infighting amongst sikhs.
(ii) The Sikhs had built up a strong army against

the British.

(iii) The British attacked the united forces of Hindu,
Muslim & Sikh.

• (i) The British occupied Jullander Doab.

(ii) Jammu & Kashmir was handed over Raja
Gulab Singh Dogra. 3+2 5

 25. • (i) The Khonds – Odisha

(ii) Van Gujjars – Punjab

(i) The commercialization of agriculture.

(ii) Exploitation of forest wealth by the British.

(iii) The unjust revenue and forest policies. 2+3 5

 26. (i) The social reforms by the British were opposed
by  the conservative Indians

(ii) Many Indians  opposed the introduction of
western education

(iii) Conversion of Indians to Christianity

(iv) British made changes in Hindu law of property

(v) Indians were not allowed to travel in Ist class
train compartments.

(vi) Policy of racial discrimination.               (any 5) 5×1 5

OR



[282]

(i) Proper planning, outbreaking of the revolt on

the fixed date

(ii) Unity among the rebels

(iii) Spreading of Revolt to all parts of the country

(iv) Sophisticated weapons and disciplined army of
the Indians 5×1 5

 27. • Amendments are necessary because the -
constitution keeps on evolving according to the
changing conditions, circumstances, needs of the
society and international obligations.

Procedures of Amendment :

(i) By Simple Majority : Amendment Bill should be
approved by a simple majority of members present
& voting in both the Houses of the Parliament.

(ii) By Special Majority : to be approved by both the
Houses of the Parliament by (i) absolute majority
of total membership and (ii) two-third majority of
members present and voting.

(iii) Special Majority and Ratification : After the bill
is passed by special majority in both the Houses
of the Parliament it may be approved by the
legislatures of at least half of the total number of
states.                            (any two) 1+2+2 5

 28. • Secularism means that  :-

(i) Every citizen of India is free to practise any

religion

(ii) the state shall not discriminate against any

group or individual on the basis of religion
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• Provisions related to secularism

(i) Every religious group has the right to
manage it’s own affairs in matters of religion

(ii) There shall be no state religion

(iii) No religious instructions can be imparted in

the institutions maintained out of the govt.

funds. 2+3 5

 29. Methods to Exercise Control :

(i) Vote of no-confidence – It is passed against any

one minister, the whole Council of Ministers

has to resign collectively.

(ii) Question Hour – The Parliament also controls

the Executive by asking questions. The period

when questions are asked is called the Question

Hour.

• Vote of no-confidence is more effective because

this can remove the government even, if the

motion is passed.

OR

• Some seats are reserved for Scheduled Castes /

Scheduled Tribes.

Persons belonging to these categories only can

contest the elections from the Reserved Constituency.

• The purpose behind such a reservation is to
assist and uplift the weaker sections of the society
& bring them into national mainstream.

• Joint electorate 2+2+1 5

 30. (i) (A) Delhi

(B) Gwalior

(C) Tripura



[284]

For Visually impaired students

in lieu of Q. No. 30

(1) Hazaribagh / Bihar

(2) Meerut

(3) Madras

Gwalior
Delhi

Tripura

A

B
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 31. A. Western Australia

B. Tropical Deciduous

C. Eastern Coast of North America

D. Brazil

For Visually impaired students

in lieu of Q. No. 31

 31. 31.1 Sahara 1

31.2 Amazon Basin 1

31.3 Pine, Fur, Spruce, Cedar    (any  one) 1

31.4 eucalyptus 1

Eastern
Coast
of North
America

Brazil

T r i o u c a k
Decidous

Western
Australia

A

B
C

D
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QUESTION-WISE ANALYSIS

S.No. of Form of Marks Estimated
question           Contents unit / Sub unit question allotted difficulty

level*

1. Ch-2 Natural Resources : Land, Soil & Water MCQ 1 C

2. Ch-2 Natural Resources : Land, Soil & Water MCQ 1 B

3. Ch-3 Natural Resources : Vegetation & wildlife MCQ 1 B

4. Ch-3 Natural Resources : Vegetation & wildlife MCQ 1  A

5. Ch-8 The Modern Period MCQ 1 C

6. Ch-8 The Modern Period MCQ 1 C

7. Ch-8 The Modern Period MCQ 1 C

8. Ch-15 Role of Constitution MCQ 1 B

9. Ch-17 The Union Government MCQ 1 B

10. Ch-18 The Union Legislature MCQ 1 A

11. Ch-1 Resources : Utilization and development SA 3 B

12. Ch-2 Natural Resources : Land, Soil & Water SA 3 A

13. Ch-3 Natural Resources : Vegetation & wildlife SA 3 B

14. Ch-3 Natural Resources : Vegetation & wildlife SA 3 B

15. Ch-9 Establishment of Company rule in India SA 3 B

16. Ch-10 Colonialism : Rural & Tribal Societies SA 3 B

17. Ch-11 The First War of Independence 1857 SA 3 A

18. Ch-15 Role of the Constitution SA 3 B

19. Ch-15 Role of the Constitution SA 3 C

20. Ch-17 Union Government SA 3 C

21. Ch-18 Union Legislature SA 3 A

SOCIAL SCIENCE
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S.No. of Form of Marks Estimated
question           Contents unit / Sub unit question allotted difficulty

level*

 22. Ch-1 Resources : Utilization and development LA 5 B

 23. Ch-2 Natural Resources : Land, Soil & Water LA 5 B

 24. Ch-9 Establishment of Company rule LA 5 A

 25. Ch-10 Colonialism : Rural & Tribal Societies LA 5 A

 26. Ch-11 The First War of Independence LA 5 B

 27. Ch-15 Role of the Constitution LA 5 C

 28. Ch-16 Indian Secularism LA 5 B

 29. Ch-18 Union Legislature LA 5 B

 30. Ch-10 Colonialism : Rural & Tribal Society MAP 1 B
Ch-11 The First War of Independence MAP 2 B

 31. Ch-2 Natural Resources : Land, soil & water MAP 2
Ch-3 Natural Resources : Vegetation & Wildlife MAP 2
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DESIGN

SOCIAL SCIENCE
Summative Assessment–I & II

Time : 3 Hrs. Max. Marks : 90

I.  Weightage to form of questions :

From of questions : Marks for No. of Questions with Total Marks
each Questions their serial numbers

MCQ 1 10 Sr. No. (1-10) 10
Short Answer (SA) 3 11 Sr. No. (11-21) 33
Long Answer (LA) 5 8 Sr. No. (22-29) 40
Map Question 3+4 2 (Sr. No. (30-31) 07
Total 31  Sr. No. (1-31) 90

II. Unitwise Division of Questions

    Unit No. & Subject Marks MCQ SA LA Map Total
1 mark 3 marks 5 marks Qs.

Qs. Qs. Qs.

I. Resources and Development 30 4(4) 12(4) 10(2) 4(1) 30(11)

(Geography) 1–4 11–14 22-23 31

II. Our Past III : People & 30 3(3) 9(3) 15(3) 3(1) 30(10)

Society in Modern Period 5-7 15-17 24-26 30
(History)

III. Rule of Law and Social 30 3(3) 12(4) 15(3) — 30(10)

 Justice (Pol. Science) 8-10 18-21 27-29

Total 90 10(10) 33(11) 40(8) 7(2) 90(31)

III. Scheme of Options : Internal choice only in one long answer question (LAS) from each unit.

IV. Weightage to difficulty level :

1. Difficult/Hot questions : 20%

2. Average questions : 50%

3. Easy questions : 30%
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V. Expected Length of answers to different types of questions & time management :

S. No. Type of Questions Expected length of answers Expected time

1. MCQs Selection of correct answer 2 minutes × 10 Qs
(a), (b), (c) & (d) = 20 mts.

2. Short Answer (SA) Qs Not exceeding 60 words 5 minutes × 11 Qs
= 55 mts.

3. Long Answer (LA) Qs Not exceeding 120 words 10 minutes × 8 Qs
= 80 mts.

4. Map Question (Two)            ——— 11 minutes

5. Reading the question 14 minutes
paper & revison of
Answers

Total 180 minutes
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BLUE PRINT
(Summative Assessment-II)

Subject : Social Science Max. Marks : 90

S.No. Unit Sub-unit /Topic MCQ SA LA Map Total
Q.

I. Geography

1. Chapter 4 Mineral and Energy 1(1) 1 5(1) 2 6+2(2)
Reousrces 22

2. Chapter 5 Agriculture 1(1) 2 6(2) – – 7(3)
11 12

3. Chapter 6 Manufacturing 1(1) 3 6(2) ––– 2(1) 7+2(4)
Industries 13  14 31

4. Chapter 7 Human Resources 1(1) 4 – 5(1) –– 6(2)
23

Total 4  (4) 12(4) 10(2) 4(1) 30(11)

II. History

5. Chapter 12 Impact of British Rule 2(2) 3(1) 5(1) 1 1+10(4)
in India 5  6 15 24

6. Chapter 13 The Nationalist Movement 1(1) 3(1) 5(1) 2(1) 2+9 (4)
(1870–1947) 7 16 25 30

7. Chapter 14 India Marches Towards –– 3(1) 5(1) – 8 (2)
Independence 17 26

Total 3(3) 9(3) 15(3) 3(1) 30(10)

Important : Please note the weightage given to chapter No. 13 & 14 is 9 marks
and 8 marks respectively instead of 10 marks and 7 marks as mentioned in the
syllabus.

III. Pol Science
9. Chapter 19 The Union Executive 1(1) 3(1) 5(1) –– 9(3)

8 18 27
10. Chapter 20 The Judiciary 1(1) 3(1) 5(1) –– 9(3)

9 19 28
11. Chapter 21 Safeguarding the marinalized –– 6(2) –– –– 6(2)

20  21
12. Chapter 22 Social Justice and the 1(1) 5(1) –– 6(2)

marginalized 10 –– 29
Sub Total 3(3) 12(4) 15(3) –– 30(10)
Total 10(10) 33(11) 40(8) 7(2) 90(31)



[291]

SOCIAL SCIENCE
SUMMATIVE ASSESSMENT-II

Time allowed : 3 hours Maximum Marks : 90

General Instructions :
1. There are 31 questions in all.

2. Marks for each question are indicated against it.

3. All questions are compulsory.

4. Write the same question number as given in the question paper while
answering a question in your answer book.

5. (i) Answers to MCQ of 1 mark should be out of (a), (b), (c) or (d) only.

(ii) Answer to each question of 3 marks should not exceed 60 words each.

(iii) Answer to each quesion of 5 marks should not exceed 120 words each.

6. Both the Maps should be attached inside the answer book.

lkekU; funsZ'k %
1- bl iz'u i=k esa oqQy 31 iz'u gSaA

2- izR;sd iz'u osQ vad lkeus fn, x, gSaA
3- lHkh iz'u vfuok;Z gSaA

4- viuh mÙkjiqfLrdk esa mÙkj fy[krs le; iz'u i=k esa fn;k x;k iz'ukad gh fy[ksaA

5- (i) 1 vad osQ cgq&oSdfYid iz'uksa osQ mÙkj (a), (b), (c) vFkok (d) esa ls gh gksuk
pkfg,A

(ii) 3 vadksa osQ izR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A

(iii) 5 vadksa osQ izR;sd iz'u dk mÙkj 120 'kCnksa ls vf/d ugha gksuk pkfg,A
6- nksuksa ekufp=k viuh mÙkj iqfLrdk osQ Hkhrj layXu dhft,A

1. Mineral and energy resources provide the foundation for :

(a) infrastructual development

(b) economic and industrial development

(c) educational development

(d) physical development (1)

[kfut vkSj mQtkZ lalk/u fdlosQ fy;s vk/kj iznku djrs gSa\

(a) cqfu;knh <kaps dk fodkl (b) vkfFkZd vkSj vkS|ksfxd fodkl

(c) f'k{kk dk fodkl (d) 'kkjhfjd fodkl
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2. Which type of farming is also called ‘Slash and Burn’ Agriculture ? (1)

(a) Commercial agriculture (b) Plantation farming

(c) Shifting agriculture (d) Extensive agriculture

fdl izdkj dh òQf"k dks ^drZu ,oa ngu* òQf"k osQ uke ls Hkh tkuk tkrk gS\

(a) okf.kfT;d o`Qf"k (b) ckxkuh o`Qf"k

(c) LFkkukarjh o`Qf"k (d) foLr`r o`Qf"k

3. Which of the following statements is related to the private sector ? (1)
(a) It is owned and managed by the government.
(b) It is owned and managed jointly by the government and private

sector.
(c) It is owned and managed by an individual, family or a corporate body.
(d) It is owned and managed by a group of people belonging to a co-

operative society.

fuEufyf[kr okD;ksa esa ls dkSu lk futh {ks=kd ls laca/ j[krk gS\
(a) bldk LokfeRo rFkk izca/u ljdkj }kjk fd;k tkrk gSA

(b) bldk LokfeRo rFkk izca/u futh rFkk ljdkj dh lgk;rk ls pyk;k tkrk gSA

(c) bldk LokfeRo futh] ikfjokfjd vFkok lkewfgd gksrk gSA

(d) bldk LokfeRo rFkk izca/u lgdkjh lfefr;ksa osQ lnL;ksa }kjk pyk;k tkrk gSA

4. Which age group of people is considered as productive population ? (1)

(a) people below 40 years (b) people between 15-59 years

(c) people between 15-50 years (d) people between 14-70 years

tula[;k osQ dkSu ls vk;q oxZ dks mRiknd ekuk tkrk gS\

(a) 40 o"kZ ls de vk;q osQ O;fDr (b) 15&59 o"kZ ls de vk;q osQ O;fDr

(c) 15&50 o"kZ ls de vk;q osQ O;fDr (d) 14&70 o"kZ ls de vk;q osQ O;fDr

5. Who initiated the Wardha Scheme of Education ? (1)
(a) Mahatma Gandhi (b) Raja Ram Mohan Roy
(c) Shri Narayan Guru (d) Jyotiba Phule

o/kZ f'k{kk iz.kkyh dk vkjEHk fdlus fd;k\

(a) egkRek xk¡/h (b) jktk jke eksgu jk;

(c) Jh ukjk;.k xq# (d) T;ksfrck iqQys
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6. Who was considered the  “Prophet of Modern Andhra Pradesh” ? (1)

(a) Periyar EV Ramasamy (b) Shri Narayan Guru

(c) Raja Ram Mohan Roy (d) Veerasalingam Kandukuri

vk/qfud vka/z izns'k osQ elhgk osQ :i esa dkSu tkuk tkrk Fkk\

(a) isfj;kj bZ-oh- jkekLokeh (b) Jh ukjk;.k xq#

(c) jktk jke eksgu jk; (d) ohjs'kfyaxe dkaMqoqQjh

7. By which act did the British imprison Indians without a trial ? (1)

(a) The Government of India Act 1919

(b) Charter Act of 1813

(c) Rowlatt Act of 1919

(d) The Government of India Act 1935

fczfV'k dkSu ls vf/fu;e }kjk Hkkjrh;ksa dks fcuk fdlh eqdnes osQ tsy esa Mky nsrs Fks\

(a) Hkkjrh; vf/fu;e 1919 (b) 1813 dk pkVZj ,DV

(c) 1919 dk jkSyV ,DV (d) Hkkjrh; vf/fu;e 1935

8. Who enjoys the real power in a parliamentary form of government ? (1)

(a) President of India (b) Speaker of Lok Sabha

(c) Prime Minister (d) Vice-President

lalnh; iz.kkyh esa ljdkj dh okLrfod 'kfDr;ksa dk mi;ksx dkSu djrk gS\

(a) Hkkjr osQ jk"Vªifr (b) yksdlHkk vè;{k

(c) iz/kuea=kh (d) mi&jk"Vªifr

9. Which case related to the following subjects is a civil case ? (1)

(a) Marriage (b) Robbery

(c) Murder (d) Cheating

fuEufyf[kr fo"k;ksa esa ls fdl ls lacaf/r eqdnek nhokuh eqdnek gksrk gS\

(a) 'kknh (b) MoSQrh

(c) gR;k (d) /ks[kk/M+h
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10. A traditional Islamic Educational Institution is known as a : (1)

(a) Pathshala (b) Madarsa

(c) Convent (d) Gurukul

ijaijkxr bLykfed 'kSf{kd laLFkku dks D;k dgk tkrk gS\

(a) ikB'kkyk (b) enjlk

(c) dkUosaV (d) xq#oqQy

11. Why is Bio-technology being applied to farming today ? (3)

vktdy òQf"k esa tSo izkS|ksfxdh dk mi;ksx D;ksa fd;k tk jgk gS\

12. What makes the plains more suitable for farming than the highlands ?
Explain. (3)

ioZrh; {ks=kksa dh rqyuk esa lery Hkwfe dks òQf"k osQ fy;s vf/d mi;qDr D;ksa ekuk tkrk

gS\ O;k[;k dhft,A

13. How and why has Bangalore become the hub of IT industries in India ? (3)

caxykSj Hkkjr osQ vkbZ-Vh- (IT) m|ksx dk eq[; osaQnz fdl izdkj rFkk D;ksa cu x;k gS\

14. Bring out any three distinctions between small scale industry and large
scale industry. (3×1=3)

y?kq m|ksxksa vkSj cM+s m|ksxksa osQ chp dksbZ rhu varj Li"V dhft,A

15. Indian paintings, architecture and literature were greatly influenced by
western contact. Give 3 examples in support of  the statement.      (3)

Hkkjrh; fp=kdyk] okLrqdyk ,oa lkfgR;] if'peh lEioZQ ls vR;f/d izHkkfor gq,A bl

dFku osQ i{k esa rhu mnkgj.k nhft,A

16. Why did Mahatma Gandhi start the Dandi March ? How did it become a
second mass movement ? (3)

egkRek xk¡/h us nk.Mh ekpZ dk izkjEHk D;ksa fd;k\ ;g nwljk tu vkanksyu fdl izdkj cu

x;k\
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17. Which three major challenges were faced by the Indian Democracy after
Independence ? (3×1=3)

Lora=krk osQ i'pkr Hkkjrh; yksdra=k dks fdu rhu izeq[k pqukSfr;ksa dk lkeuk djuk iM+k\

18. Who can declare emergency in a state and under what circumstances ?

fdlh jkT; esa vkikrdky dh ?kks"k.kk dkSu dj ldrk gS vkSj fdu ifjfLFkfr;ksa esa\ (1$2¾3)

19. State three significant features of Lok Adalats in imparting justice to the
common man in India ? (3×1=3)

Hkkjr esa vke vkneh dks U;k; fnyokus esa yksd vnkyrksa dh rhu egÙoiw.kZ fo'ks"krk,¡

fyf[k,A

20. Why is manual scavenging considered as an open violation of our
fundamental rights ? Mention the Act that has been passed to eradicate
it. (2+1=3)

eSyk <ksus dks ekSfyd vf/dkjksa dk guu D;ksa ekuk tkrk gS\ bl izFkk dks lekIr djus osQ

fy, dkSu lk vf/fu;e ikl fd;k x;k gS\

21. How do Directive Principles of state policy promote the welfare of all
sections of society ? (3)

uhfr&funsZ'kd fl¼kar fdl izdkj] lekt osQ gj oxZ osQ dY;k.k dks c<+kok nsrs gSa\

22. Why should the use of non-conventional sources of energy be preferred
over that of conventional sources of energy ? (2½+2½=5)

mQtkZ osQ xSj ijEijkxr L=kksrksa dks ijEijkxr L=kksrksa ls vf/d D;ksa ilan fd;k tkrk gS\

23. Define density of population ? Explain any two physical and two economic
factors that effect the distribution of population. (1+2+2=5)

OR
Explain any two attributes that make the composition of human resource.

(2½+2½=5)

tula[;k ?kuRo dh ifjHkk"kk nhft,A tula[;k forj.k dks izHkkfor djus okys fdUgha nks

izko`Qfrd vkSj nks vkfFkZd dkjdksa dh O;k[;k dhft,A

OR

ekuo lalk/uksa dh jpuk djus okyh fdUgha nks fo'ks"krkvksaa dh O;k[;k dhft,A
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24. “Socio-religious reform movements brought remarkable changes in the
Indian society.” Give any five examples in support of the above statement.

 (5×1=5)

^lkekftd ,oa /kfeZd vkanksyu Hkkjrh; lekt esa egÙoiw.kZ cnyko yk;sA* fdUgha ik¡p

mnkgj.kksa }kjk bl dFku dh iqf"V dhft;sA

25. Highlight any five important contributions made by the Revolutionaries
during India’s independence struggle. (5×1=5)

Hkkjr osQ Lora=krk la?k"kZ osQ nkSjku ozQkafrdkfj;ksa }kjk fn;s x;s ;ksxnku osQ fdUgha ik¡p fcanqvksa

dks mtkxj dhft,A

26. Who was the chief architect of India’s foreign policy ? Highlight 3
important features of India’s foreign policy. In your opinion which one is
the most effective feature and why ? (5×1=5)

OR

Suggest five factors that can help India to emerge as a vibrant and
dynamic country.

Hkkjr dh fons'k uhfr osQ izeq[k fuekZrk dkSu Fks\ Hkkjrh; fons'k uhfr dh rhu egÙoiw.kZZ

fo'ks"krkvksa dks mtkxj dhft;sA vkiosQ fopkj esa buesa ls dkSu lh fo'ks"krk vR;f/d

izHkko'kkyh gS vkSj D;ksa\

vFkok

,sls ik¡p dkjd lq>kb;s tks Hkkjr dks thoar vkSj xfr'khy cukus esa lgk;rk dj ldrs gSaaA

27. Why is the Prime Minister called the pivot, around which the entire
administration revolves ? Explain. (5)

iz/kuea=kh dks ,d ,slh /qjh D;ksa dgk tkrk gS ftlosQ pkjksa vksj iwjk iz'kklu ?kwerk gS\

Li"V dhft,A

28. What is meant by Public Interest Litigation (PIL)? Who devised this
concept in India ? Explain any three points of significance of PIL. (1+1+3=5)

tufgr ;kfpdk ls D;k vfHkizk; gS\ Hkkjr esa ;g vo/kj.kk fdlus nh\ tufgr ;kfpdk

osQ egÙo osQ fdUgha rhu fcanqvksa dh O;k[;k dhft,A
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29. Which sections of society come under the category of scheduled castes and
scheduled tribes ? In what ways has the reservation policy benefitted
them ?        (2+3=5)

OR
How far is it correct to say that the Bishnois contributed more to
environment and wildlife protection than the entire country put
together ? Explain with examples. (5)

lekt dk dkSu lk oxZ vuqlwfpr tkfr;ksa vkSj vuqlwfpr tutkfr;ksa osQ oxZ esa vkrs gSa\

vkj{k.k uhfr us mUgsa fdl izdkj ykHk igq¡pk;k gS\

vFkok

;g dguk dgk¡ rd mfpr gS fd i;kZoj.k rFkk oU; thou osQ laj{k.k laca/h ftruk

;ksxnku fc'uksbZ leqnk; dk gS] mruk iwjs ns'k dk feydj Hkh ugha gS\

30. (i) Two features A and B are shown in the physical map of India. Identify
these features with the help of following information and write their
names on the lines marked on the map. (2+1=3)

(A) Place where the Moderates and the Radicals split.

(B) Place where the agitated mob set a police station on fire and
burnt 22 policemen alive.

(ii) On the same outline political map of India locate and label the
following place :

(C) Jyotiba Phule founded the satya shodhak samaj in Maharashtra.

(i) Hkkjr osQ js[kk ekufp=k ij nks y{k.k A rFkk B n'kkZ, x, gSaA uhps nh xbZ lwpuk osQ

vkèkkj ij mUgas igpkfu, rFkk muosQ lgh uke nh xbZ js[kkvksaa ij fyf[k,µ

(A) fdl LFkku ij xje ny vkSj uje ny dk foHkktu gqvk\

(B) LFkku tgk¡ ij mÙksftr HkhM+ us ,d iqfyl pkSdh dks vkx yxkbZ vkSj 22 iqfyl

dfeZ;ksa dks ftank tyk;k\

(ii) fn, x, mlh ekufp=k ij fuEufyf[kr y{k.kksa dks vafdr dhft, rFkk mudk uke

fyf[k,µ

(C) tgk¡ T;ksfrck iqQys us lR; 'kks/d lekt dh LFkkiuk dh µ egkjk"Vª



[298]

For Visually impaired students in lieu of Q. No. 30
(i) B.R. Ambedkar belonged to which state ?
(ii) The place where Jallianwala Bagh Massacre took place.
(iii) Place where the historic resolution of Purna Swaraj was passed.

iz-la- 30 osQ LFkku ij ǹf"V ckf/r fo|kfFkZ;ksa osQ fy, oSdfYid iz'u

(i) ch-vkj- vEcsMdj fdl jkT; ls laca/ j[krs Fks\

(ii) LFkku tgk¡ ij tfy;k¡okyk ckx tulagkj gvkA

(iii) LFkku tgk¡ ij iw.kZ Lojkt dk ,sfrgkfld ladYi fy;k x;kA

A

B
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31. (i) Two features (A) and (B) are marked on the given political map of
world. Identify these features with the help of following information
and write their correct names on the lines marked in the map. (2+2=4)

(A) An important iron producing country of Asia.

(B) A cotton textile manufacturing country of North America.

(ii) On the same outline political map of world, locate and label the
following with appropriate symbols :

(C) Australia – An important bauxite producing country.

(D) Brazil – An important iron and steel manufacturing country.

(i) lalkj osQ jktuSfrd js[kk ekufp=k ij nks y{k.k (A) rFkk (B) n'kkZ, x, gSaA uhps nh

xbZ lwpuk osQ vkèkkj ij mUgas igpkfu, rFkk muosQ lgh uke nh xbZ js[kkvksaa ij

fyf[k,µ

(A) ,f'k;k dk ,d egÙoiw.kZ ykSg mRiknd ns'kA

(B) mÙkjh vesfjdk dk ,d lwrh oL=k mRiknd ns'kA

(ii) fn, x, lalkj osQ mlh jktuSfrd ekufp=k ij fuEufyf[kr dks mi;qDr fpg~uksa }kjk

fn[kkb, rFkk muosQ uke fyf[k,µ

(C) vkLVªsfy;k µ ,d egÙoiw.kZ ckDlkbZV mRiknd ns'kA

(D) czkthy µ ,d egÙoiw.kZ ykSg vkSj bLikr mRiknd ns'kA

For Visually impaired students in lieu of Q. No. 31

31.1 Mention any one important iron producing country of Asia

31.2 Which was the first country to develop the modern textile industry?

31.3 Which is the most important iron and steel manufacturing country
of South America ?

31.4 Which is important copper producing nation of Africa. (4×1=4)

iz-la- 31 osQ LFkku ij ǹf"V ckf/r fo|kfFkZ;ksa osQ fy, oSdfYid iz'u %

31.1 ,f'k;k osQ fdlh ,d ykSg&mRiknd ns'kksa dk mYys[k dhft,A

31.2 vk/qfud oL=k m|ksx dk mRiknu djus okyk fo'o dk igyk ns'k dkSu lk Fkk\

31.3 nf{k.k vesfjdk dk lcls egÙoiw.kZ ykSg&bLikr mRiknd ns'k dkSu lk gS\

31.4 vizQhdk dk egÙoiw.kZ rkEck mRiknd ns'k dkSu lk gS\
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A

B
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SOCIAL SCIENCE M.M. : 90
(Summative Assessment-II)

MARKING SCHEME & HINTS TO SOLUTIONS
(Note : Any other relevant solution, not given herein but given by the

candidates, be suitably awarded)

Marks allotted Total
 Q.            VALUE POINTS/KEY POINTS to each Value Marks
 No. point/key point

 1. (b) economic and industrial development 1 1

 2. (c) Shifting Agriculture 1 1

 3. (c) It is owned and managed by an individual,
family or a corporate body. 1 1

 4. (b) People between 15-59 years 1 1

 5. (a) Mahatma Gandhi 1 1

 6. (d) Veerasalingam Kandukuri 1 1

 7. (c) Rowlatt Act of 1919 1 1

 8. (c) Prime Minister 1 1

 9. (a) Marriage 1 1

 10. (b) Madarsa 1 1

 11. • To produce food-essential for survival of humans

• Population explosion resulting in food shortage

• Growth of advanced technology in different
fields e.g. HYV.

• Help the environment by reducing the use of
pesticides

• More production over shorter time

• Crops have better flavour, colour and nutritonal
value                          (any 3) 3×1 3
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 12. • Home to a large population –easily available
cheap labour

• Multiple markets

• Highly developed regions

• Easy to use modern methods of agriculture on
plain surface

• Plenty of rivers for water supply

• Fertile soil makes for multiple growing season 3×1 3
(any 3)

 13. Reasons :

(i) After independence the city has emerged as a
major centre of engineering.

(ii) It has developed into a manufacturing centre of
wide range of products like; machine tools,
scientific equipments.

(iii) The emergence of software production in India
first started in and around Bangalore.

(Any other relavant points) 3×1 3

 14. Small Scale Industry Large Scale Industry

(i) In these industries (i) Here manufacturing
manufacturing is done is done by machines
by machine in addition driver by power
to man power

(ii) They invest less (ii) Huge capital
amount of capital investment is done

(iii) Papar goods, toys, (iii) Iron & steel, textile
edible oil etc. are the etc. are the examples
examples. of this industries.
(any other relevant points)       (any three) 3×1 3
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 15. (i) Eminent Indian painters like Raja Ravi Verma,
Abindranath Thakur, Jamini Roy etc. were greatly
influenced by Western style of art.

(ii) In Bombay, churches, townhalls, railway stations
were constructed in English pattern.

(iii) The scholars of Fort William college in Calcutta
translated the ancient Indian texts.

(iv) Rabindranath Tagore, Sarojini Naidu, etc. were
greatly influenced by English pattern of writing. 3×1 3

 16. • The British passed the salt Act that gave the
monopoly of making salt to the British and deprived
Indians from doing so.

• (i) It spread all over the country.

(ii) Foreign goods were burnt.

(iii) Peasants refused to pay taxes.

(iv) Movement was led by Abdul Gaffar Khan in
North-west Frontier Province. 3×1 3

 17. (i) Extreme poverty
(ii) Illiteracy
(iii) Poor health
(iv) Corruption
(v) Terrorism

(Any three of above or any  other relevant point)   3×1 3

 18. • The President of India can declare emergency in
a state.

• If the government of a state is not being run in
accordance with the constitution, the President
can declare emergency in that state. It is also
called imposition of President’s rule in a state.

• Breakdown of constitutional machinery in a state. 1+2 3
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 19. Features :

(i) Legal procedures is simple

(ii) The cost of litigation is less

(iii) Provision of speedy justice

(iv) Decisions are taken on-the-spot

(v) No advocate or pleades is allowed to argue.

  (any three) 3×1 3

 20. • (1) It violates the dignity of certain sections of
society.

(2) It descriminates one section of the society from
the other.

(3) Employment of Manual Scavengers & construction

 of Dry Latrines Prohibition Act of 1993. 2+1 3

 21. • They direct the states to apply these principles
while making laws to secure social order for the
promotion of the welfare of people.

• They aim to minimise the inequalities in income
& eliminate unequalities of status.

• They provide facilities & opportunities to ensure
that the material resources of community are
distributed for common good. 3×1 3

 22. Conventional                  Non-Conventional

• Traditional source • Non-traditional
source

• Expensive • Inexpensive

• Unfavourable impact • Do not create bad
on environment impact

• Lot of dependency • Dependency will
increase

• Coal, petrol • Solar energy, wind energy 2½+2½ 5
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 23. • Density of population is the number of persons
living per square km. of an area.

• Physical factors :
(i) Relief : High mountains rugged terrain and

rocky plateaus restrict human settlement as
they do not prefer development of transport,
agriculture etc.

(ii) Climate : Extreme heat, cold, dryness or wet
ness cause discomfort. On the other hand
favourable climatic condition in the monsoon
region attracts large concentration of
population.

• Economic factors :
Minerals : The peresence of minerals in different
parts of the world has attracted huge population
because there is an ample scope for development
of industries in these areas.
Industries : Dvelopment of industries in any
region has a very favourable impact on
employment impact on employment opportunities. 1+2+2 5

OR
Two attributes are :
• Age Structure : It refers to the number of people

belonging to different age groups. They are
broadly categorised into :

(i) people below 14 years
(ii) people between 15 yrs to 59 yrs.
(iii) People above 59 years
Analysis of age structure gives us a clear picture
about dependent and productive population.

• Sex Ratio : It is expressed as number of females
per 1000 males. It speaks about the status of
female in a country. The sex ratio is balanced in
countries where death rate of boys and girls are
equal. Sex ratio of India is declining due to social
preference to male and negligence to the females. 2½+2½ 5
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 24. (i) Examples : Educated Indians revised the past
glory and helped in the formation of Modern
India.

(ii) The movements brought a cultural awakening.

(iii) Rapid development of literature, science and art.

(iv) Remarkable improvement in women education

(v) Many laws were enforced to curb social evils.
(or any other relevant point) 5×1 5

 25. (i) Jugantar party of Aurobindo Ghosh planned an
armed revolt against the British.

(ii) Hindustani socialist Republican Association was
formed.

(iii) In Lahore (1928) Bhagat Singh, Azad & Rajguru

assassinated police commissioner – Sandras.

(iv) A bomb was thrown in the Central Legislative
Assembly by Bhagat Singh & others.

(v) Revolutionary organisations like India House,
Gadar Party & Berlin Party were set up abroad. 5×1 5

 26. • Jawahar Lal Nehru

• (i) Promotion of World Peace

(ii) Anti-coloinalism 5×1 5

(iii) Anti-Raulism

(iv) Non-Alignment

(v) Regional Cooperation                 (Any three)

Students own Answer

OR

(i) Better quality of education at all levels.

(ii) Raising agricultural productivity.

(iii) Raising Industrial Quality.
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(iv) Spurring growth of information technology and
Bio-technology.

(v) Improving health and nutrition.

 27. (i) To form Council of Ministers.

(ii) To preside over the meetings of the Cabinet as
well as Council of Ministers.

(iii) To co-ordinate the working of various departments.

(iv) To advise the President about important
appointments like that of Chairman of UPSC,
Ambassadors etc.

(v) To act as a link between the President and the
Cabinet.

 28. PIL – Any person from the public whether directly
affected or not, may write an ordinary letter or even 1+1+3 5
a postcard to draw the attention of the High Court
or the Supreme Court towards any matter of serious
public importance.

• The Supreme Court of India

• Significance :

(i) It has proven to be a boon for the common
man.

(ii) It has brought legal aid to poor, illiterate &
ignorant Indians.

(iii) PIL has encouraged people to initiate on
matters of urgent public importance.

 29. The castes of Dalits and Adivasis which are
listed (scheduled) in the Constitution of India
are known as Scheduled Castes and Scheduled
Tribes.

(i) A percentage of seats are reserved in the public
sector units, Union and State Civil Services.
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(ii) They are also given relaxation in upper age
limit for applying to certain jobs.

(iii) Seats are reserved for SC/ST/OBC’s in the
legislaltures.
(or any other relevant point) 2+3 5

OR

(i) The preservation of animals and vegetation has
been a religion to the Bishnois.

(ii) They preserve bio-diversity and encourage good
animal husbandary.

(iii) Their religion bans animal killing.

(iv) Their religion directs them to protect all life forms.

(v) They take care of nature instead of exploiting it.

• As compared to the contribution of Bishnois, no
other community, organisation and government
agency has contributed so sincerely and
religiously.

 30. (A) Surat

(B) Chauri-Chaura

(C) Maharashtra

For Visually impaired students

in lieu of Q. No. 30

(i) Maharashtra

(ii) Amritsar

(iii) Lahore 3×1 3

 31. A – India

B – Canada

C – Australia

D – Brazil 2+2 4
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A

Chauri Chaura

Surat

B

C
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For Visually impaired students

in lieu of Q. No. 31

 31. 31.1 India

31.2 Britain (UK)

31.3 Brazil

31.4 South Africa 4×1 4

India

AustraliaBrazil

Canada
B

A

C
D
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QUESTION-WISE ANALYSIS

S.No. of Contents unit / Sub unit Form of Marks Estimated
G– Geography, H–History, PS–Political Science  question allotted difficulty

level*
1. Ch-4 : Minerals & Energy Resources MCQ 1 C

2. Ch-5 : Agriculture MCQ 1 B

3. Ch-6 : Manufacturing Industries MCQ 1 B

4. Ch-7 : Human Resources MCQ 1 C

5. Ch-12 : Impact of British Rule MCQ 1 B

6. Ch-12 : Impact of British Rule MCQ 1 B

7. Ch-13 : Nationalist Movement MCQ 1 B

8. Ch-19 : The Union Executive MCQ 1 B

9. Ch-20 : The Judiciary MCQ 1 B

10. Ch-22: Social Justice & the Marginalized MCQ 1 C

11. Ch-5 : Agiriculture SA 3 B

12. Ch-5 : Agriculture SA 3 B

13. Ch-6 : Manufacturing Industries SA 3 B

14. Ch-6 : Manufacturing Industries SA 3 B

15. Ch-12 : Impact of British Rule on India SA 3 B

16. Ch-13 : The Nationalist Movement 1870-1947 SA 3 B

17. Ch-14 : India Marches towards Independence SA 3 C

18. Ch-19 : The Union Executive SA 3 B

19. Ch-20 : The Judiciary SA 3 B

20. Ch-21: Safeguarding the Marginalised SA 3 C

21. Ch-21: Safeguarding the Marginalised SA 3 C

22. Ch-4 : Mineral & Energy Resources LA 5 B

23. Ch-7 : Human Resources LA 5 B

SOCIAL SCIENCE
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24. Ch-12 : Impact of British Rule of India LA 5 B

25. Ch-13 : The Nationalist Movement LA 5 B

26. Ch-14 : India Marches towards Independence LA 5 B

27. Ch-19 : The Union Executive LA 5 A

28. Ch-20 : The Judiciary LA 5 B

29. Ch-22 : Social justice and the Marginalized LA 5 B

30. Ch-12 : Impact of British Rule in India MAP 1 B
Ch-13 : The Nationalist Movement MAP 2 B

31. (a) Ch-4 : Mineral & energy resources MAP 2 B
(b) Ch-6 : Manufacturing Industries MAP 2 B

S.No. of Contents unit / Sub unit Form of Marks Estimated
G– Geography, H–History, PS–Political Science  question allotted difficulty

level*


